AF12 Chapter 3.4 Example 2 Method 2
Find the Zeros of a Function Using a CAS
Solve  x3 –  7x2 +  5x – 10 = 0. 

Solution:

( Turn on the CAS. Press the [image: image4.emf]  key and select 8:System Info.

( Select 2:System Settings.

( Tab down to Auto or Approx, and ensure that Auto is selected.

( Tab down to OK and press enter.
( Press the [image: image2.png]


  key and select 6:New Document.
( Open a new calculator page. 
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( Press menu, and select 1:Actions.

( Select 1:Define.

( Type f1(x) = x3 –  7x2 +  5x – 10.

( Press enter.
Use the Solve function:

( Press menu, and select 3:Algebra.

( Select 1:Solve.
( Type f1(x)=0,x.  Press enter.
The solution will be displayed.

Use the Zeros function:
[image: image3.emf]
( Press menu, and select 3:Algebra. 
( Select 4:Zeros.
( Type f1(x),x.  Press enter.

The zero will be displayed.

